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« void SPush(Stack * pstack, Data data);
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-Data SPop(Stack * pstack);
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#define CRT _SECURE_NO_WARNINGS
#include <stdio.h>

#define TRUE 1
#define FALSE O
#define STACK_LEN 100

typedef int Data;

typedef struct _arrayStack

{
Data stackArr[STACK_LENJ;
int toplndex;

} Stack;
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void Stacklnit(Stack * pstack)
{

}

pstack->toplndex = -1,

int SIsEmpty(Stack * pstack)
{
if (pstack->toplndex == -1)
return TRUE;
else
return FALSE;
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void SPush(Stack * pstack, Data data) {
if (pstack->toplndex >= STACK_LEN - 1)
exit(-1);
pstack->toplndex += 1;
pstack->stackArr[pstack->topIindex] = data;
}

Data SPop(Stack * pstack) {
int rldx;

if (SIsEmpty(pstack)) {
printf("Stack Memory Error!");
exit(-1);

}

rldx = pstack->topindex;

pstack->toplndex -= 1,

return pstack->stackArr[rldx];
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Data SPeek(Stack * pstack)

{
if (SIsEmpty(pstack))

{
printf("Stack Memory Error!");

exit(-1);
}

return pstack->stackArr[pstack->topindex];
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int main(void)

{

Stack stack; 4 StackQ| A 3! ZE]
StackInit(&stack); 7|t

SPush(&stack, 1); SPush(&stack, 2);

SPush(&stack, 3); SPush(&stack, 4); <[ Holy 271
SPush(&stack, 5);

while (ISISEmpty(&stack)) <[ | O| E{ 7HLY 7|
printf("%d ", SPop(&stack));

return O;
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#define CRT_SECURE_NO_WARNINGS
#include <stdio.h>

#define TRUE 1
#define FALSE O

typedef int Data;
typedef struct _node

{
Data data;

struct _node * next;
} Node;

typedef struct _listStack

{
Node * head:;
} Stack;




.

AEHO| B|AE7|HI 38
(£7]3}, H|Y=X| &9Ql, peek)

}

else

}

}

void Stacklnit(Stack * pstack) {
pstack->head = NULL,;

int SIsEmpty(Stack * pstack) {
if (pstack->head == NULL)

return TRUE;

return FALSE;

Data SPeek(Stack * pstack) {
if (SIsEmpty(pstack)) {

printf("Stack Memory Error!");
exit(-1);

return pstack->head->data;
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void SPush(Stack * pstack, Data data) {
Node * newNode = (Node*)malloc(sizeof(Node));

newNode->data = data;
newNode->next = pstack->head;

pstack->head = newNode;
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Data SPop(Stack * pstack) {
Data rdata;
Node * rnode;

if (SIsEmpty(pstack)) {
printf("Stack Memory Error!");
exit(-1);

)

rdata = pstack->head->data;
rnode = pstack->head;

pstack->head = pstack->head->next;
free(rnode);

return rdata;




int main(void)

{

Stack stack; 4 Stackl| A4 Ol ZE]
StackInit(&stack);

SPush(&stack, 1); SPush(&stack, 2);

SPush(&stack, 3); SPush(&stack, 4); <[ Holy 271
SPush(&stack, 5);

while (ISISEmpty(&stack)) <[ | O| E{ 7HLY 7|
printf("%d ", SPop(&stack));

return O;
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